


 التصحيح النموذجي
رقم 

 التمرين
 العلامة الحل 

( 

43أ(  -1 ≡ 42 ؛[9]1 ≡ 4 ؛[9]7 ≡ 4[9] 3 

11 

43 (ب ≡ 43𝑛ومنه  [9]1 ≡ 1[9] 1 

43𝑛+1 (ج ≡ 4[9] 1 

2- 20201438 ≡ 43𝑛+1 ≡ } ومنه[9]4
2020 ≡ 4[9]

1438 ≡ 3(47) + 1
 3 

3- 2017 ≡ 20172ومنه  [9]1 ≡ 1[9] 

      1995 ≡ 6[9] 
20201438ومنه  − 20172 + 1995 ≡ 0[9] 

2 

( 

𝑏أ(   -1 = 3 1 

11 

𝑎 (ب = 3 − 𝓇   ؛𝑐 = 3 + 𝓇 2 

𝑎ج(      × 𝑐 = (3 + 𝓇)(3 − 𝓇) = 9 − 𝓇
2

= −16 

𝓇ومنه        
2

= 𝓇أي    25 = 𝓇متزايدة   (𝒰𝓃))لأن  5 > 0 
1 
1 

2-       𝒰𝓃 = 𝒰0 + 𝓃𝓇 = −2 + 5𝓃     1 
           𝒰15 = −2 + 75 = 73                     1 

𝑆 = 𝒰0 + 𝒰1+. . . . +𝒰15 =
16

2
(𝒰0 + 𝒰15) = 568 1 

3- 𝑆′ = 𝒱0 + 𝒱1 + ⋯ . +𝒱15                                                                                                        

    = 𝒰0

8
+

𝒰1

8
+. . . . . . +

𝒰15

8
=

𝑆

8
= 71 2 

 


